UNCERTAINLY SHort RESPONSE

12.

13.

Jessica puis 6 marbles in a bag.
Part A

Suppose Jessica picks 2 marbles out of
the bag without looking. Is it possible for
Jessica to pick 2 marbles of the same color?

Answer:

Part B

If Jessica does pick 2 marbles of the same color, which
color are they most likely to be?

Answer:

The spinner is used in a game that Willow is playing.

On what color is the pointer most likely to stop?

Red | Blue

Yetlow

Answer:

On the lines below, give a reason for your answer.
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